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This question paper consists of 100 questions in four sections. 1 mark for each
question. : '
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Section-1 : Telugu : Question No. 1 to 25; Section-2 : Mathematics : Question
No. 26 to 50; Section-3 : Environmental Science : Question Nﬂ.l 51 to 75; and
Section-4 : English : Question No. 76 to 100.
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(C) ol Jrew Soardd
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(C) HodswsrEdo (D) &grgdo
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Section - 2

0968 & 5

(Mathematics)

2, 5, 1, 4 3 ®oSo& Dﬁgﬁ ©8 Y 4—%/03:5 Bowg ¢ ]
The largest 4-digit number formed using the digits 2, Brlud 18
(A) 4152 (B) 5142
L
(C) 5421 ' (D) 4521

tardoge D8 O "';:n:;.i SowgH, Todose 5O V) dopgdH do Ddg
DSH . |

The difference between the largest 3-digit number and the smallest 2-digit

number is :
(A) 988 : (B) /9'/89
(C) 90 ‘ (D)~ 89

8 drdose ‘ng:SrS" felalo) g‘éﬁaé"" 6, 236 g‘;ﬁneﬁ& 2 H00c» Do
Q*:’ané";} ®08 a¥d gvaus“a ©08% 3 Téo eond & dowg : | ]
In a 3-digit numher,'if the digit in hundreds place is 6, ones place is 2 and

the digit in tens place is 3 times the digit in ones place, then the number

150 ’\/
(A) 632 (B) 682

(C) 622 (D) 662
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& — - = =5
S28 8% oD dE FHrHD wdnm &r. 720 STHR. &5 SO By

58 &r. 36 wowd SBE ednd FErE 20 (ST

FErS
(A) 24 8 (B) 20 &
(C) 18 & (D) 25 8.0

Rajitha got ¥ 720 by selling scrap iron at her house. If the cost of 1 kg of
scrap iron is T 36, the weight of scrap iron sold by Rajitha 1s.:

(A) 24 kg (B) 20 kg

(€Y 18 kg h (D) 25 kg

€ HOES Heos® SHen 58 HHHS saryow. 2f SHOH 30 D& THypd

G808 o FwsS S Swéo %.::gg ﬁmpg [ ]
A function hall has 58 rows of seats. If each row has 30 seats, the total number

of seats in the hall is :

(A) 1740 (B) 1920
(C) 1524 (D) 1942

Eho ¢y z0ds, Sr0)f8 Wy I8y &PHw wod. $Ho aPHod
L08 88y aDyw 200 D, &rdo. worh ) a9)od D00d 57T &%

B8 150 D &rgod vond ESe IrTRE8 IvgooB ST
Y

Srrdo

\/-'"
(A) 450 4y (B) 50 a»
(C) 350 (D) 400 o

Ratna’s house lies in between Kamala’s house and market. The distance between
Kamala’s house and Ratna’s house is 200 m. The distance between Ratna’s
house and market is 150 m. Then the total distance that Kamala has to walk

to go to the market is :

(A) 450 m (B) 50 m

G

(C) 350 m (D) 400 m
10
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2 O rod doird Vobhad 250 x.O. yo g3 dowg | |

The number of 250 ml. milk packets that can be made from 2 L milk is :

"

[

(a) 8 (B) 10

(C) 4 (D) 6

33, 34 0w 35 Joad He (DF )0 el ?:}%35 20d (AWrodhod.
2 (FENE FETOS” 200 8Ky 3DYoS” SEABTOM FG°S) JTgLLO
dopg (80 HPES® adgadod : (a8 @ = 5 & darglhen)

Q. Nos. 33, 34 and 35 are given from the table below :

The class-wise strength details of a health camp cnnducied in a Primary school

is given below : (Here (C) = 5 students)

$358 dergdon. Howg

Class - Number of students

1 O6Ee

I 900606

111 ©OO0O0O0O006

v O0O00O0OO0O
v ©O00O0OO6

11 3 A



33.

34.

395.

36.

VI

Dot 16 S5586% dargdhe ©owg

Number of students in class I is :

(A) 15 (B) 25

© 30 (D) 20

I, IV 0w V S8f&ed’ Indo dorgho HDowg L]
The total number of students in III, IV and V classes is :

(A) 100 (B) 80

(C) 40 (D) 30

3050 HBIoVS Jorgde Dowg BIrIHM Ao Sdide ;| Q1
The two classes which have the same number of children checked in the camp
are :

(A) II, III (By "III, V

(C) I, 1II ® 1V, V

& H)dos® Yo Tohadd Ko : | ]

The shaded part in the given circle is :

5 8
(A) 3 (B) 5
© 3 D=

12
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39.

40.

80O T8S® 5 Hdckw 10 oF ;'D'%‘ﬁ_;)ﬁum oD T owg:

Among the following, the number which is divisible by 5 and 10 is :

(A) 125 (B) 246
(C) 120 (D) 285
4
Y £ JIrdDS DI)w 5708
: A : 4 .

The fraction which is NOT equivalent to g 18
o2 m ¢
(A) 6 B 3

2 (D) 3
g 6

2, 3 Hbdiw 6o Einﬁzr &mé& H3z=o

The common multiple of 2, 3 and 6 is :

K) 146 B) 112

(C) 108 D) 128

|80
The letter that changes its shape when seen

)V B) A

13
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in the mirror 1s :
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3 5. 30 B¥ods = wuiwnd &0 |

2 THIN. 30 BAC = .vrersnsvursssbaniss sec,
(A) 180 (B) 150
(€) 140 (D) 160

28 DHo wHH 5000 B wond o bk wid. 8goergdl |

If the weight of an elephant is 5000 kg, then its weight in quintals is :

43.

Vi

(A) 500 (B) 5
C) 50 (D) 50000
7000 + 70 + 4 = 10X .

\
(A) 774 (B) 7000704
(C) 70074 D) 7074

ad)d Do ToE) Heofod, (DoIS")

Perimeter of the given figure (in meters) is :

D m

4 m

(A) 35 (B) 38
(C) 36 D) 37

14
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1 1
ﬁé a0 gl GZ SN D ﬂél&w : [ ]

The bigger fraction between IE1 and ﬁnl 1%

8 1

@) 6y v 61

(C) % D) %

©30) a8 S0 PYPI¥os™ -é-;’:a ) ddardo &'ad Hodadw gaﬁ A0

sdardo Sl WOD0B. sawd &, Bok Srost siny IS EFo

PYEo TwE) Jwdo B! 18]

5
total part of the story book read by her on these two days is :

o] 2
Ammu read 5 part of a story book on Saturday and — part on Sunday. The

\ },5/ -
@ 3 B) &
2 1

15 VI
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49.

o \ £ .
Eod Do wonf'mro Lumg

The number of right angles in the given figure is :

rd

A 7 B) 5
C) 4 D) 6
16595 86,401 o e

D oH0ESD Sdhard dowg

The next number in the above pattern is :

(A) 64 (B) 54
: ”,.r*"'
(C) 55 (D) 66

24" TIn¥) s¥wmroste Sowg

The number of factors of 24 is :

_ e

(A) 6 (B) 10
(C) 8 (D) 12

ol Dopgod® 2T IFyhomr PrNODWE Dowg

The number that is not divisible by 2 from the given numbers is :

(A) 153 (B) 152
ol
(C) 154 (D) 156

16
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Section - 3
H0Xoee ﬁﬁ:fﬁ&w

(Environmental Science)

380W) wIE dororen : l ]
2 9 _, H
(A) 58 )B4 (B) &g Dorgen
(C©) (@& D) DOWB
Energy giving foods are :
7
(A) Carbohydrates ('Efjl Fats
(C) Proteins (D) Vitamins

HH8C0 WBBEDH wreoe §H0 5O SohZohd &d$ Soad :[ - |
The toll free number to be dialled, for helping the needy children :

(A) . 108 (B) 100

G 1098 > 108

Srftgo SBEUGE WPy I sc¥pmo TErHined® & TNy Q5w

l@é&a 1 [ ]
(A) . ©8)=S (B) s8)°

(C), “s*8)SBuS )6 D) Jod

Global warming is due to increased levels of :

fﬂ{ Oxygen (B) Carbon

(C) Carbon dioxide (D)  Sulphur

17 V1
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56.

VI

&:JE ol
: e (B) Fe 00 NEE
} g oy Wy &
(A) &0 o0 ) ansd I:IJE”'-*
: 59\ oJ® Hésed
8 B8 (D) 1 -
) el S0 o | |
u . ) s in the past is

satisfy their need

: ds to
The system of exchanging goo

called :

. ‘hain system
(A) Debting system (B) Chain sy

(C) Barter system (D)  Friendly system

sdHererd a&gﬁﬂ*m AbzHO @’3355 $)830

(A) Pd=d $)3g0 (B). wozrd Hydgo
(C) 2rddd S5)880 (D) rbﬁ"g&égégo

The special dance form of Adilabad tribes_is :

(A) ‘Tribal dance (B) Banjara dance

(C) Folk dance (D) Gussadi dance

Létes 50 00T [ ol
(A) . TE orerewn (B) se¥adinen

. '

) T B D) %0 HST

‘Orugallu Fort’ was built by :

(A) Reddy Rajulu _ (B) Kakatiyas

i
(C) Somanadri (D) Quli Qutub Shah

18
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59.

O3 E}ﬂ?@aé‘uﬁ“ Stop (w#fod&) Drop (Bod £ 83508) Roll (wwadsr &Eod)

SDR Qcdhivo drdomd 1 |
) mua@f& BV YHD o (B) D)) SR yow pdo

(C)  Doodren wotnHd by (D) = HEardo HWHOD P
St_ﬂp'nl‘ﬂp-ﬂﬂ“ (SDR) principle is to be followed :

ii] During heart attack (B) When fell unconscious

(C)  When caught fire (D) At the time of paralytic attack
(EodonTHo 0000 —---m--- S &)D ¢ [ ]
(A)  HStords (B) <eooime

(C) o (dVS (D) © SwFTH

Triambakeshwara temple is located in:

(A) Maharashtra (Eﬁ 'hTelangana

(C) Andhra Pradesh [ (D) Tamil Nadu

ﬁsq‘:s“‘_éﬁ 1) z..r:aé:::f: &ﬁi‘l Foh % [0 z:.?;'a ﬁﬁﬁs&&swﬂdﬁm 50 sroos® E‘Jﬂéaﬁm&é&.

[ ]
(A) sSe¥8oinen (B) S'$oen

(C) ‘orshoSgen (D) Qzro PThayen
Basara Gnana Saraswati temple was built on the banks of River Godavari

during the period of :

N
(A) Kakatiyas (B) Cholas
(C) Chalukyas (D) Nizam Kings

19 V]
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VI

(D) @IS oPEgo

(C) arrUe Ufz:;“sw“‘w

H t w . tt{‘ﬂ
£ 4 at10015 Il
f hil\-’l:' I'UILE dﬂd FFEUI"] I

in a huge book called :

| (B) Indian Parliament
(A)  Indian Politics d : .
o (D) Indian Kingdom
(C)  Indian Constitution :
. o {
6l.  "TE' wdods oo WoE
(A) )80 (B) &
(C) 2% (D) Deds
‘Remo’ is Bonda Tribal's :
(A)  Dance (B)  Language
(€)' Movie D) Festival
62. By NOBID s e oo ¥3 BHHEyS ST DH5’S 5%&:&»&5;
Vs
[ i)
Q)  orKE
(C) FrEES PKE
D) vz FHE
The tank which ¢ ,
¢ has Syphon System whep, th
Once the tank 1s fyl] - Y themselves
{A} Rama Sagﬂl‘ e
' (B) Go
' : Pala <.
©  Nagarjuna Sa ] Sagar
)
2 S&I‘a]a Sagar
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64.

65.

AR ST ST L. ;
TOUN) Tl @Berd ey et 08

1.4'1': Hf"'"ﬁe ! 'jq.‘hig i :" EE B E'
C) &£ . D) J@od &oT & >0
t-.-'l..'l_'lj ﬂ“gia_ ( ) Lr & . e

This right is not one of the main richts of children :
(A) Right to dcvelnpnmnt EB/} Right to protection

(C)  Right to survival (D) Right to relaxation

&% se¥ Edwes® Fod B30 2o WD DEHoE 3D

(A) ) (B) [ 8% So8xew

(C) By 8% Serew D) JB 88 Serew
The cells that fight against the disease causing germs are :
(A) Plasma (B)  Blood platelets

(C)  White blood cells D Red blood cells

wifen oo den -DGJ&J&J&J s*800
(A) gr|Pee0 (B)  |#&re0
(C) . 2705800 D) 88

The reason for the formation of the day and the night is :

F
L .Il'l-r

(A} Eﬂ[’t—hjﬁ- rotation ‘ (B} EEHPSE
(C) Earth’s revolution (D) Earth’s orbit

21
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66. 7 5‘;55’;-:;_?{:‘}'{” Hoowg SO €9 00 O 0370
(A) o@ (B) ¢sndaden
4 i
(C) DS D) Sor@Dome
o Dl

The most important organs of the respiratory system are :

o
(A) Heart (B) Lungs
(C) Brain (D)  Kidneys

67. a8 $g§& oM DS JondBTID P SSDE & S0y ol
I J

@ga
A) P (B) | (p&Bsnten
(C) SIS0 D). 8¢

The person who is unable to stand straight has the problem in :

(A) The skull [%; The ribs
(C)  The backbone | | (D) The mnts
68. wodd5oS® ¥ (im0 obr 807 HOTWE ity E"ﬁ{:‘ﬂgﬂ : [ ]
(A) &S0 (B) é'sséwﬁaéa_
(@), "\ 3T Héwowo D) . |go

A cosmic body which revolves round a planet is called :

(A) Satellite Comet

(C)  Solar system . \({ Star
VI
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2 mholil edde [ 5

(A) 2pre o8 }%uu (B) ﬂﬁL;:Fj.;, ol QUO

(€C) by JF) %00 D) (©°%8 2o GO Q@ Qe0

‘Zebra Crossing’ is a :

lsﬂ Zebra’s crossing area (B) Road crossing area

(C)  Area to get into the bus (D) Traffic signal area

wded¥ ]YIE ooT (HTHo : ( |
(A)  GHyd [@rodo (B) §'0& (oo

(C)  &ordodg Ty (@rodo (D) &r &ddd00

More solar energy is received in this region :

(A) Polar region (B) . Hill region

(C) Equatorial region (D) Terrain region

os% BIS Hiw sHSod. OB woRboBLOVR TEH [ |
(A) %o& aﬂgcﬁa' (B) RMP &g

(C) ENT wrgd (D) B4y g

Latha's ear is seereting pus. She should consult a :

(A) Eye doctor | F]i\ RMP doctor

(C) ENT doctor (D)  Skin doctor

28 w¥ 8T 45 I ¢ [ J
(A) EB6 D (B) 84S

(C) D™ (D) DI Mg

This is a renewable resource :

@i) Kerosene (B) . Solar energy

(C) Petrol ' (D) Natural gas

23 Vi
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o

1..-.. L.J_hl‘i:;-!tiq:.:.‘ll:1;'};\:;ﬂ:' q"_.‘?k..'-..-ﬁ__ 5, ﬂ:'__u_\a
=1 -5-1_
A) 15 0.0 (B) 20 00.e0
l:i‘ . (R * s Ut
| 30 0.
(C) 25 ok (DY 30 =o.
i i D .

L g be
While reading, the distance between the eyes and the book should

(A) 15 ems (B) 20 cms

(D) 30 cms

(C) 25 ems

VL GHTRORSD
(B) &hyS8rorew

(C) 8 (DSroren (D, “Eir¥odo

Richter scale is used to know the intensity of the :

(A)  Road accidents (B)  Fire accidents

N,

(C)  Water accidents (D) Earthquake

& sceodt &WSJJ;%?&GQJ, Swozen NEG Ry oD on
(A) B&scwo0 (B) Qoarsveo

(C) . Sorsreo D) oy srerg®
Mangoes and sugar palm fruits are available in this season -

(A) Winter season (Bj Summer season

(C)  Rainy season (D) All seasons

24



76.

79.

Section - 4

(English)
Vamshi can drive a car.
(A)  Possibility :H} Request
(C)  Capacity (D)  Offer
Rani and Rajitha burst ... 0% e, laughter.
& “‘-‘- -
(A) of (B) 1nto
(C) in (D)  to

The words that have different spellings and different meanings, but have similar

pronunciation are called :

o
(A) Heterophones (B)
(C)  Homophones (D)

The plural of the word phenomenon is :

(A) phenomena (B)

(C) phenomenas (D)
25

Homonyms

Heteronyms

phenomenons

phenomenae

[ ]

VI
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82.

83.
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(A)

(C)

A bunch ﬂfum‘

ol

’ R bt L] I'x
Rohit returned after .......oobeaies,

s T

) n Gy i to bE a dﬂftﬂr~

&
oS gy
sssdssmmnnaassunannpiiibes

wanting

wants

(A)  Salt

(C)  Sugar

The men ....... i NI o
(A) 1s

[H(Hj} was

hour.
(3)

".k-‘rl'.
(1)

®)

(D)

'xfff
(B)

(D)

an

No article

is wanting

was wanting

Honey

Flowers

ploughing the field.

When people are sick, we say :

(A)

(C)

Congratulations

(et well soon
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(B)

(D)

®)

(D)

almn

are

Thank you

Please
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89.

A person who buys goods 18 a

(A) Seller (B)
(C)  Carrier (D)
Seema is .. V0.0 than Santhosh.
(A) tall (B)

(C)  tallest (D)

Identify the correctly spelt word :
(A)  Prosperous (B)

(C)  Prosperus [\6)

The word Reluctant means :

e
o

(A) Not willing (B)
(C) Wil (D)

Ramya ran fast. She missed the train.

(Combine the sentences with though)
%

Shopkeeper

(Customer

taller

more taller

Prosparous

Presperous

Willing

Willingly

u " "
(A} Ramya ran fast though she missed the train.

(B) Though Ramya ran fast, she missed the train.

(C) Ramya ran fast, she missed the train though.

(D) Ramya ran though fast she missed the train.
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90. Identify the correct prefix to get the opposite of "agree.

TR (B) dis

Vol
i e (D) over

Q. Nos. 91-95 : Read the following passage and answer the questions :
Lalitha, a ten vear old girl sowed some tomato seeds in the middle of the
kitchen garden. The seeds grew into little plﬁnts after a few days. She pulled
every weed and never allowed an insect or a worm near her pet plants. When
the days were hot, she poured water to the plants at night also. She planted
flowers all around her plot to make it beautiful. The flowers also grew and

blossomed. But, the tomato plants were not so promising except one plant.

That plant was a beautiful one.

91. In the kitchen garden, Lalitha sowed : | |
(A) Tomatoes (B) Tomato seeds
(C)  Brinjal seeds (D)  Brinjal

VI 98



93.

95.

The seeds grew into little plants, the action word 18 B s L A
(A)  seed (B) plant
() grew (1) into

A plant which disturbs the growth of cultivated plants is :

(A)  seed (B)  weed

(C)  pet plant (D) tomate plant

She watered the plants at night because(:
;LA} the flowers grow at night.

(B) the insects eat the flowers.

(C) the days were hot.

(D) the days were cool.

The tomato plants were not so promising means :
(A).  they did not grow well.

.
{ﬁ} they grew many tomatoes.

(C) they grew well.

(D) they were very beautiful.
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Q. Nos. 96-100 : Read the following passage and answ

VI

er the questions :

The earth is the
Evervthing in the solar system revolves around the sun. The ef

kes the Farth 365

only planet we know, that has living creatures on it. It ta

| ' 3 iter.
davs to orbit around the sun. The biggest planet of the solar systém is Jup

L, g
It can fit 1300 Earths ! The smallest planet is Mercury as Pluto 1sn t considered

to be a planet. Mercury is the closest planet to the sun.

Living creatures are present ﬂ‘n]ji’ on the : [ ]
{AJ Sun (B)  Jupiter

(C) Earth - (D) Pluto

The planet that can fit 1300 Earths is : [ ]
(A)  Pluto {.E; Mercur:-,-'

(C) Earth (D) Jupiter
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98. I'o orbit around means :

L ——

(A)  to stay (B) to jump

(C)  to revolve (D) to walk
99. The sun’s nearest planet is :

(A)  Jupiter (B) Mercury

(C) Earth (D) Pluto

100. Pick the correct one :

(A) Jupiter is the smallest planet

(B) Mercury is the farthest planet to the sun

(C) Pluto is not considered as a planet

(D) Pluto is a planet
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